```
Lecture 8-QM II (24/07/00)
```

Saturday, October 16, 2021 2:21 PM

d)
$$| \psi \rangle_{(1)} \otimes | \psi \rangle_{(2)} = | \psi \psi \rangle$$

a) $S_3 | \uparrow \uparrow \rangle = \left(S_{13} + S_{23} \right) \left(| \uparrow \rangle_{(1)} \otimes | \uparrow \rangle_{(2)} \right)$

$$= \left(S_{13} | \uparrow \rangle_{(1)} \otimes | \uparrow \rangle_{(2)} + | \uparrow \rangle_{(1)} \otimes \left(S_{13} | \uparrow \rangle_{(2)} \right)$$

$$= \frac{k}{3} | \uparrow \rangle_{(1)} \otimes | \uparrow \rangle_{(2)} + \frac{k}{2} | \uparrow \rangle_{(2)} \otimes | \uparrow \rangle_{(2)}$$

```
= 1 h | ++>
                                                  = t ms | 1 t > => ms=1
            b) S_{\delta} |\uparrow\downarrow\rangle = (S_{13} + S_{23}) (|\uparrow\rangle_{(1)} \otimes |\downarrow\rangle_{(2)}
                                            = \frac{\hbar}{2} |\uparrow\downarrow\rangle - \frac{\hbar}{2} |\uparrow\downarrow\rangle = 0
                                              = \hbar m_{S} |1 \rangle \Rightarrow m_{S} = 0
              c) S_3 | \downarrow \uparrow \rangle = (S_{13} + S_{23}) ( \downarrow \downarrow \rangle_{(1)} \otimes | \uparrow \rangle_{(2)})
                                               = -\frac{\hbar}{2} | \downarrow \uparrow \rangle + \frac{\hbar}{2} | \downarrow \uparrow \rangle = 0
                                                 = t ms 1++> => ms=0
                d) S_{3} \downarrow \downarrow \downarrow \rangle = \left(S_{13} + S_{23}\right) \left(\downarrow \downarrow \rangle_{(1)} \otimes \downarrow \downarrow \rangle_{(2)}
                                                       = - h |\downarrow\downarrow\rangle = h m_s |\downarrow\downarrow\rangle \Rightarrow m_{s=-1}
                                    S' | s, m_s \rangle = t^2 s (s+1) | s, m_s \rangle
                   \vec{S}^{2} = (\vec{S}_{1} + \vec{S}_{2})^{2} = \vec{S}_{1}^{2} + \vec{S}_{2}^{2} + \vec{L}\vec{S}_{1} \cdot \vec{S}_{2} + \vec{S}_{2} \cdot \vec{S}_{3}
      = \vec{S}_{1}^{2} + \vec{S}_{2}^{2} + 2(S_{1X} S_{2X} + S_{1Y} S_{2Y} + S_{18} S_{23}) \qquad = \vec{S}_{1} \cdot \vec{S}_{2} = 0
2(S_{ix} S_{2x} + S_{iy} S_{2y}) = S_{i+} S_{2-} + S_{i-} S_{2+}
\begin{cases} S_{ix} = \frac{1}{2} (S_{i+} + S_{i-}) \\ S_{iy} = -\frac{i}{2} (S_{i+} - S_{i-}) \end{cases}
         \vec{S}^{2} = \vec{S}_{1}^{2} + \vec{S}_{2}^{2} + 2S_{13}S_{13} + S_{1} + S_{2} + S_{1} - S_{2} +
        a) \vec{S}^{1} \mid \uparrow \uparrow \rangle = (\vec{S}_{1}^{1} + \vec{S}_{2}^{1} + 2S_{13} + S_{23} + S_{1+} + S_{2-} + S_{1-} + S_{2+}) (\mid \uparrow \rangle_{(2)})
         S_{i+} |\uparrow\rangle_{(i)} = 0
S_{i+} |\downarrow\rangle_{(i)} = \hbar |\uparrow\rangle_{(i)}
S_{i-} |\uparrow\rangle_{(i)} = \hbar |\downarrow\rangle_{(i)}
S_{i-} |\downarrow\rangle_{(i)} = 0
                                                                                                      S_{1+} |\uparrow\rangle_{=0}
S_{2+} |\uparrow\rangle_{(1)} = 0
                   \overrightarrow{S}^{2} | \uparrow \uparrow \rangle = \frac{3}{4} \overrightarrow{h}^{2} | \uparrow \uparrow \uparrow \rangle + \frac{3}{4} \overrightarrow{h}^{2} | \uparrow \uparrow \uparrow \rangle + 2 \frac{h}{2} \left( \frac{h}{2} \right) | \uparrow \uparrow \uparrow \rangle + 0 + 0
                                                = 2 k^2 |\uparrow\uparrow\rangle = k^2 S(S+1) |\uparrow\uparrow\rangle
```

$$5(s+1)=2 \rightarrow s=1$$

b)
$$S^{2} |\uparrow\downarrow\rangle$$

 $= (\vec{S}_{1}^{2} + \vec{S}_{2}^{2} + 2S_{13}^{2} S_{23}^{2} + S_{1+} S_{2-} + S_{1-} S_{2+}^{2}) (|\uparrow\uparrow\rangle_{(2)})$
 $= \frac{3}{4} \dot{h}^{2} |\uparrow\downarrow\rangle + \frac{3}{4} \dot{h}^{2} |\uparrow\downarrow\rangle + 2 \frac{\dot{h}}{2} (-\frac{\dot{h}}{2}) |\uparrow\uparrow\downarrow\rangle + 0 +$
 $+ \dot{h}^{2} |\downarrow\uparrow\uparrow\rangle$
 $S^{2} |\uparrow\downarrow\rangle = \dot{h}^{2} (|\uparrow\uparrow\downarrow\rangle + |\downarrow\uparrow\uparrow\rangle) \neq \dot{h}^{2} S(S+1) |\uparrow\downarrow\rangle$

c)
$$S^{2} |\downarrow\uparrow\rangle =$$

$$= (S_{1}^{2} + S_{2}^{2} + 2S_{13} S_{23} + S_{1+} S_{2-} + S_{1-} S_{2+}) (\downarrow\downarrow\rangle_{(1)} \otimes |\uparrow\rangle_{(2)})$$

$$= \frac{3}{4} t^{2} |\downarrow\uparrow\rangle + \frac{3}{4} t^{2} |\downarrow\uparrow\rangle + 2 (-\frac{t}{2}) (\frac{t}{2}) |\downarrow\uparrow\rangle + t^{2} |\uparrow\downarrow\rangle + 0$$

$$= t^{2} (\downarrow\downarrow\uparrow\rangle + \downarrow\uparrow\uparrow\rangle + \downarrow\uparrow\downarrow\rangle$$

$$\frac{1}{\sqrt{2}}\left(1+\uparrow \rangle + 1\uparrow \downarrow \rangle\right)$$

$$\frac{1}{\sqrt{2}}\left(1+\uparrow \rangle - 1\uparrow \downarrow \rangle\right)$$

$$S^{2} \left(\frac{1}{\sqrt{2}} \left(|\uparrow \downarrow \rangle_{\pm} |\downarrow \uparrow \rangle \right) = \frac{1}{\sqrt{2}} \left(|S^{2}| \uparrow \downarrow \rangle_{\pm} |S^{2}| \downarrow \uparrow \rangle \right)$$

$$= \frac{\hbar^{2}}{\sqrt{2}} \left\{ \left(|\uparrow \downarrow \rangle_{+} |\downarrow \uparrow \rangle \right) \pm \left(|\uparrow \downarrow \rangle_{+} |\downarrow \uparrow \rangle \right) \right\} = \frac{2}{\sqrt{2}} \hbar^{2} \left(|\uparrow \downarrow \rangle_{+} |\downarrow \uparrow \rangle \right)$$

$$S^{2} |S\rangle = 2 \hbar^{2} |S\rangle = \hbar^{2} s(s_{+1}) |S\rangle \Rightarrow s_{=1}$$

 $S^2 \mid A \rangle = 0 = h^2 S(S+1) \mid A \rangle \Rightarrow S=0$

$$S^{2} |A\rangle = 0 = h^{2} S(S+1) |A\rangle \Rightarrow S=0$$

$$S_{3} \frac{1}{\pi} (|\uparrow\downarrow\rangle + |\downarrow\uparrow\rangle) = 0 \Rightarrow m_{S} = 0$$

$$\vec{L} + \vec{S} = \vec{J}$$

$$\vec{L}', L_3, \vec{S}', S_3, \vec{J}^2 \vec{J}_3$$

$$(l', m_l', s', m_s') \vec{J}' \vec{m}_{j'}$$

$$J^{2} | j, mj \rangle = \hbar^{2} j (j+i) | j, mj \rangle$$

$$J_{3} | j mj \rangle = \hbar mj | j, mj \rangle$$